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x0 =
(0, 0) � x1 = (0, 1) � x2 = (1, 0) � x3 = (1, 1) " # �����	 !��
��	 ��$ ���	� ��$
!��

a = (a1, a2)
�
b = (b1, b2) "

%&'&(& ) *+* ,-./01 2 3 45- 46
a ∗ b = (|a2 − 1|b2, |a2 − b1|)

%&'&(& ) *7 * 8 9: 93 4;<
=- 9>: .1
a∗b = (|a2b1−a1b2|, |a1b1−a2|)

%&'&(& ) *) * ? .@5.AB4C
,- 4D9- 46
a ∗ b = (|a2b2 − a1|, a1b2)

%&'&(& ) *E * F .6B91
2 3 45- 46
a ∗ b = (a1b2, |a1b1 − a2|)

%&'&(& ) *G * HI9- 4C
2 345- 46
a ∗ b = (|a1 − b2|, a2b1)

%&'&(& ) *J * H>9B4C. F .6K
a ∗ b = (|a1 − b2|, a1b2)

%&'&(& ) *L * M ;- ;1;- N;1
F 4O.4: P:Q4/
a ∗ b = (a2b1, |a2b2 − a1|)

%&'&(& ) *R * S.5C4B91
F .51;6
a ∗ b = (|a1 − 1|b1, a1b2)

%&'&(& ) *T * U;3 ;CKB4C.
V:4N.1;5.
a ∗ b = (|a1b1 − a2|, |a1 − b2|)

%&'&(& ) *+W * UC;D4- ;1 P 1.C
a ∗ b = (|a2b2 − b1|, a1b2)

%&'&(& ) *++* X9:YAB4C
S9>54>:.1
a ∗ b = (|a1b1 − b2|, |a2b2 − b1|)

%&'&(& ) *+7 * XY- /.C4C91
Z 4B45.
a ∗ b = (a2b1, |a1b1 − a2|)

%&'&(& ) *+) * [4>5KB91
V 1D;C46
a ∗ b = (|a2b1 − a1b2|, a1b2)

%&'&(& ) *+E * [YD- ;;1 Z 4B45.
a ∗ b = (|a2b2 − b1|, a1b2)

%&'&(& ) *+G *
a ∗ b = (a2b1, |a1b1 − a2|)

%&'&(& ) *+J *
a ∗ b = (|a2 − 1|b2, |a1b1 − b2|)

%&'&(& ) *+L*
a ∗ b = (|a1 − b2|, a1b2)

%&'&(& ) *+R *
a ∗ b = (|a1b1 − b2|, |a2b2 − a1|)


